

1. Choose the correct answer:

$$47.99 + 8.01 =$$

$$\begin{array}{r} \text{a) } 47.99 \\ + 8.01 \\ \hline 56.00 \end{array}$$

$$\begin{array}{r} \text{b) } 47.99 \\ + 8.01 \\ \hline 128.09 \end{array}$$

$$\begin{array}{r} \text{c) } 47.99 \\ + 8.01 \\ \hline 487.91 \end{array}$$

$$54.20 - 39.85 =$$

$$\begin{array}{r} \text{a) } 54.20 \\ - 39.85 \\ \hline 502.15 \end{array}$$

$$\begin{array}{r} \text{b) } 54.20 \\ - 39.85 \\ \hline 14.35 \end{array}$$

$$\begin{array}{r} \text{c) } 54.20 \\ - 39.85 \\ \hline 5390.15 \end{array}$$

2. Do the following addition and subtraction:

$$368.0 + 157.4 =$$

$$\begin{array}{r} \\ + \\ \hline \end{array}$$

$$865.9 - 514.3 =$$

.....
 -

3. Choose the correct bars to solve the problem:

Mario's mass was 49.5 kg. His mass was 16.92 kg less than his father's. What was his father's mass?

a)

MARIO 49.5 KG	16.92
FATHER ____ KG	

$$49.5 + 16.92 = 66.42 \text{ kg}$$

His father's mass was 66.42 kg

b)

MARIO 49.5 KG	
FATHER ____ KG	16.92

$$49.5 - 16.92 = 32.58 \text{ kg}$$

His father's mass was 32.58 kg